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#7B
Examine the problem on handout #7.  Explain to the mining company each of the following:

1)  optimal solution

2)  value of slack/surplus values

3)  value of shadow price(s)
4)  It will now cost the company $2200.00 to run mine one.  Explain the effect (if any) this will have.
5)  It will now cost the company $2200.00 to run mine two.  Explain the effect (if any) this will have.
6)  The contract with the smelting company is now calling for 55 tons of high grade ore.  Explain the effect (if any) this will have.
7)  The contract with the smelting company is now calling for 38 tons of high grade ore.  Explain the effect (if any) this will have.
8)  The contract with the smelting company is now calling for 20 tons of medium grade ore.  Explain the effect (if any) this will have.

9)  The contract with the smelting company is now calling for 100 tons of low grade ore.  Explain the effect (if any) this will have.

10)  The contract with the smelting company is now calling for 108 tons of low grade ore.  Explain the effect (if any) this will have.

11)  The optimal solution shows that there is slack in the number of days for mine 1 (B4).  How much would our low grade ore need to decrease in order for there to no longer be any slack in number of days for mine 1?
12)  There is a surplus in high grade ore (B1).  How much would medium grade ore need to decrease in order for there to no longer be any surplus in high grade ore?
13)  There is a surplus in low grade ore (B3).  How much would low grade ore need to increase in order for there to no longer be a surplus in low grade ore?
